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SECTION A {20 marks}

Questions 1 to 18 carry 1 mark each.

Questions 11 to 15 carry 2 marks each.

For each question, four options are givenr. One of them iz the correct answer.
Miake your choice {1, 2, 3 or 4). Shade the correct ovat on the Optical Answer
Sheet.

4+ Find the value of 30 = 5 + (20 - 6) x 2,

(1) 14
(2) 34
(3) 40
(4) 43

2 \What fraction of 3 hours is:20 minutes?

1 2
(1) 3
(2) Y
. ;
()3
]
4 L
(4) S
3.3 . 1 is the same as
io -
(1) 42
(2) 42
(3)  0.42
(4)  0.042



(1) 0.05
(2) 4.5
(3) 0.5
(4) 45

Brenda has the same number of 35 notes and $10 notes. Their total value is $60.

How many $10 notes does Brenda have?

(1) ,
(2) 8
(3) 12
(4) 16
% =_ 120
(1) 6
(2) 12
(3) 15
(4) 18

4 hairclips cost $9. How many such hairclips can you buy with $1087

(1) 8

(2) 12
(3) 48 :
(4) 96




The ratio of Penny's pens o Yani's pens is 5 : 8. Yani has G pens more than
Penny. How many pens do they have in alt?

(1) 13
(2) 19
(3) 26
(4) 32

25% of a triangle is shaded. Find the ratio of the fotal area of the triangle to the
unshaded area of the tnangle.

(1) 3:4
(2)y 4:3
(3) 1:3
(4) 3:1

The 2 rectangies below are identical in size. Each of them is divided into equal
parts. What fraction of the 2 rectangles is shaded?

(1) =
(2) %
3) o
(4) =

\~



1.

12.

13.

There are 46 pupils in Primary 8D. 24 of them are boys. How many percent more
boys than giils are there?

(1-; 20

(2) 40
(3) 50
(4) 60

Jeremy had enough money {o buy 14 marbles. However, he bought 9 marbles
and 10 erasers instead. If each eraser cost $0.30, how much did each marhle
cost? ‘

(1)  $0.70
(2)  $0.60

(3)  $0.40 ST

(4)  $0.30 -

Odd numbers from 1 to 99 are arranged in 4 columns as shown below.
In which column will you find number 87 2 ‘

w
O .
(=]

9 11 1 13 | 15
17 | 19 21 | 23
.25_

(1) A

(2) B

(3y ¢

(4) b




14. The ratio of Melody's Savings to Rachel's savings was 6 : 7 at first. After Melody
spent 50% of her savings and Rache! spent $40, Rachel had as much ieft as
Melody. What was their total savings at first?

(1) 520
(2) 260
(3) 130
(4) 60

15. ‘ ' : .
> Sharon used % of her money to buy a dress. She also wanted to buy a bag which

cost $40 more than the dress but she was short of $50. How much did the bag

cosi?

(1) $i4 |
(2) $44

{(3) $54

(4) $94

Ux
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Kame : { } Class: Primary ©

SECTION B

Questions 16 to 25 carry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated. (10 marks} '

16. Express 5% as a decimal.

Ans:

17. A teapot holds 3.75 litres of tea. It is poured into 5 similar cups.
The capacity of each cupis A _

Ans - jitres

18. 9 x05 =2 + x 0.5.

Ans :




18. When the digit '6' in the number 234.567 is replaced by the digit '8,
by how much is the number increased?

Ans ;-

20. Theré are some red and blue socks in a basket. The-number of red socks in the

basket is % the fola! of the numbear of socks in the basket. What is the ratio of the

number of red sock</1g the number of biue socks in the basket?

Ans :

21. How many Q{ééntimétr@‘) square cards-are required to cover a Scmetre’square
board? '

ARns: cards




29 FEili in the boxes with the correct signs (-, %, ¥} . Each sigh may be used once
only.

N PP i Y

23, 20% of a number is:5. What is 120% of this number?

Ans:
24. For every dollar Doris has, Eugene has $7.
For every dollar Eugene has, Flora has $4.
How much do Eugene and Flora have if Dosis has $107
Ans:$__ .

> Ribbon A is % as long as Ribbon B. Ribbon B is % as long as Ribbon C. How

many times is Ribbon C as long as Ribbon A?

ANs: : ' fimes




Giuestions 26 to 35 carry 2 marks each. Show your workings clearly in the space
below each question and write your answers in the spaces provided. For
guestions which require units, give vour answers in the units stated. (20 marks)

26. The ratio of the number ofggg_aapj%@ the number of green apples in a box is
4 : 7. If 18 more red apples are added into the box, the number of red apples will

be equal fo the number of green appies. How many apples are there in the box?

Ans: apples

27. A square was enlarged so that its length was doubled. What was the percentage
increase in its area? ’

Ans: Y%

ey

(o




28.

What is the difference in value between A and 87

Ans: |

'29. 30 children shared a bag of sweets equally. 10 of the children gave all their sweets
to the other children in the group. As a result, the other children received 3 more

sweets each. How many sweets were in the bag at first?

Ans:

1¢



30. For every 6 books which Bili has, Joe has 9. How many books do they have

P TP - =
altogethneriif Joe has 54 books?

Ans: e books

31. 1 pack of red envelopes costs $1.45. Lucas needs 30 such packs. For every 3
packs of red envelopes Lucas buys, he gets 1 pack free. How much does Lucas
have to pay?

32. Strawberries are sold at $0.25 per 100g. What is thel pricg‘of 2.5Kg%0f such
strawberries? ' ) '

Ans: ‘$ L

11 | !-l




33 The capacity of a glass is half that of a jug. The giass is 3 fult of juice. Sitt pours

all the juice info the emply jug. Wha{’fraction of thé@is now filled with juice?

Ans:

34. Jeremy wants to make a square with rectangular cards 4cm by 3cm as shown
below. Find the least number of cards he needs to.make a square.

- deom

3em

Ans: cards.

(\?‘E) A clock has its time set to 10a.m.. ft goesfaster by 3 seconds for every 1 minufe of
the actual time passed. What is the displayed time when the actua! time is

1 Zgim-’?

Ans: . .

)
12



Section C {50 marks) -

For questions 3§ to 48, show your warkings cleariy i the space provided for
each question and write your answers in the spaces provided.

The number of marks available is shown in the brackets i ]atthe end of each
question or pari-question.

36. Marcus had 50% more stamps than Gina. Marcus gave away half of his stamps
and had 750 left. How many stamps did Gina have?

Answer: B {31

t4

13




37.

The figure below shows a rectangular piece of paper folded at 2 comers forming
the 2 shaded isosceles triangles, ABE and ECF. Point A is the mid-point of the
breadth of the rectanguiar piece of paper and ABCD is a square. Find the area of
the rectanguiar piece of paper. .

B?__-g'}s;

28cm

Answer:

{3

14 ts



38.  Mary has $50. She can bu

¥ either exactly 3 similar wallets and 5 similar combs or
exactly 16 such waliets: H

oW many such combs can he buy with $210?

Answer:

{3l

1L
15




39.

Kenny and Joan had some stickers. Kenny had thrice as many stickers as Joan.
Kenny used % of his stickers and gave 2 of the remainder to Joan. Kenny then

had 30 stickers left. How many stickers did Joan have at the end?

Answerf , 3]

(1



40.

' . 5 }
In one day, Johann can make 450 kites and Darren can make 3 as-many kites.

How many days are required to make 3500 kites by both of them?

Answer: i {31

!
17 !




The figure beiow consists of 3 overlapping squares A, B and C. The ratic of
the area ot A@jthe area of B to the area of Cis 2 : 3 1 4. #f 25% of both
Squares A and C is shaded"f’nd the ratio of the_shaded area:o folthe unshaded
area in the fi fgure Please give your answer in the simplest ratio.

A

Pen i
e o

Bl

% %3
:‘%«B‘.

Answer: . {31

18 'y



in a farm, there are three times as many ducks as goats. there is an equal

number of cows and goats. The total number of legs of all these animals is 1400,

a) How many ducks are there in the farm?
b) How many cows are there in the farm?

Answer: a)_:

(3]

{1]

b).
19 -




43. The figure below is made up of 5 identical squares A B C, DandEanda
rectangle Z. Find the perimeter of the whole figure if lhe area of Rectangte Zis

486cm2.

P
—T
Fa

A | B C

Answer: - : [4]

20 4



44,

Ali, Baba_sand Carapa inherited 2 sum of money from their father. The amourit of
money Aif receweduo the amcunt Cara?a received was in the ratio 3 : 5.

Carapa’s amount was % that of Baba 5. Ali's amount was $770 less than Baba's.

a) What is the ratio of&hsmqmﬂy t0;Baba’s moneytg/Carapa’s money'?
b) How much money did they get a!together'?

Ans : a) ‘: ~ (1

b)__. [3]

21 1L




4 Peter read 810 pages of a storybook on Friday. On Saturday, he read 1 of the
45.) 6

remaining pages. If he still had 50% of the book to complete, find the number of

pages In the book.

Answer: - {51

b

22



46.

There were some $5, $10 and $50 notes in Jane's waliet. T h%of the $5,

$10 and $50 was Ii‘ the ratio 3 1 4 ; 2. After spending 50% of her $50 notes, 10 of
her $10 notes and 5 of her $5 notes, Jane had $200 left. Find the tofal amount of

money Jane had in her wallet af first.

Answer:

23

(51
2




47.

20% of the people at the auditorium are adults. 25% of the children are boys.
There are 80 fewer boys than girls. Assuming that the number of aduits remain

thé same, how many girds must leave so that the number of adults is 50% that'of

the number of girls in the auditorium?

Answer:

24

{5]



48.

Study the patiermn below carefully.
Column A Column B Column C Column D Totai
Row 1 A = ¥ W 42
Row 2 = B - ¥ =] 54
Row 3 Y F w ¥ 44
Row 4 hiif ' g & & 41 -
Total 44 50 48 39
Find the valueof ¥, @, % and 4 .
) Answer: v
I
&
5]
End of Paper
ab

25







42)Buck—>3x2=06

Goat>1xd=4

Cow—>1x4=4

1 sei2>6+4+4=14

no. of set->1400+14=1G;
a)6ox100=600

600+2=300 _
There are 300 ducks in the farm.
b)100x4==400 (legs)

400+4=100

There are 100 cows on the farm.

Page?
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43)Z =6 identical square

Bicomp

PR

ATER 5 2 "‘;’%"
1 side of the %@@% 9 cm x Sov=diomy,

£1s

4a{'.,-?\;i‘;%\é‘”ﬁ‘=12~5cm e
-fﬁ%@:‘é’f is 126{jm_

11 units-}$7‘?§3¢_,£‘k’ﬁ ————
unit —"z$g€i—§£§§? SRR

4

t

BRIl i,
1 un 810400k | e

4

5 uffits->202.5¢ 101357 %5
Topia 18128 20057
Thén *ﬁ*—:-,,,c%“ -

i

- 4x$10=440;
$50: ¢
2x$50=$100
$10x10=$1652
& units>4$200+$10852300
1 unit »4$300-6=%
$5->$50x3=$150 ¥
$10->$50x4=$200 ¥
$50>$50:2=$100 ¥
$150+$200+$100=$450
She had $450 in her wallet at first.

Page3
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47) 4 units—=>80
1 unit >80+4=20
Adults >20:2=48]

S
o

£

_255120-80=40

e ?%@?g‘f‘fds must leave.

Page4
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